Name of the Trade - Electrician 2nd sem - NSQF - Module 1 - Cell and Batteries

Question OPTA OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans Levels
1|Which device converts sunlight into Photo voltaic cell |Liquid crystal diode| Light emitting Light dependent |1 Tl gfad YU &l [dggd SHoll # | HIcl diccsd da  |Iclids hicd SIS | Algc UHICT SHITS |dsc fsUsce e[| A 2
electrical energy? diode resistor e 82
2|Which law secondary cell works? Lenz’s law Joule’s law Faradays laws of | Faradays laws of [Tgdiid Id [ [HIH ¥ B Hd SEEglEEE S BT HgH RIS & [dggd RIS &b [dggd C 1
electrolysis electromagnetic ? AHUYICH bl TRUT &1
induction
3|What is the formula to calculate the M =itgm M = zit gm M = it/z gm M = z/it gm idqu 3UUcd & GR UbiAd M =it gm M = zit gm M =it/z gm M = z/it gm B 1
Mass deposited during electrolysis? wﬁmﬁmﬂgw
?
4]How the capacity of batteries is Volt Watt Volt Ampere Ampere hour  [dcl @I &Hdl &Y FdTg Sildl 872 dlee qre dlee TR TR el D 1
specified?
5|What is the name of defect that Buckling Local action Partial short Hard sulphation |39 &N &1 A Fd1sy, ol HRUI SDIa] R Teha SITRTD LI HOR Hb T A 3
bending of plates in secondary cells? @f@?ﬂﬂ?@ﬁﬁ‘ﬁ?ﬂgﬁ?ﬁ%—
6|What is the unit of electric charge? Volt Watt Ampere Coulomb faggd 3Mdx Dl T DTS 672 dlec IS THRR G D 1
7|What is the output voltage of lithium 1.2V 1.5V 1.8V 25V TerTg® Id o1 [9Id dleesl Thal 1.2V 1.5V 1.8V 25V D 1
cell? BT g2
8|What is the method of charging if the Initial charge Boost charge Trickle charge | Freshening charge |®H IHI | 3= &R ¥ dcxi QRN URIHD A= X A FENEEICE] ThIgT 3{Tax B 2
battery is to be charged for short A %’ﬁ DI It fafd Srg=mft St
duration at higher rate? %’?
9|Which electrolyte used in carbon zinc | Dilute sulphuric Ammonium Potassium Concentrated TS ST [P Yl H I Il T ARRP 3R | SHIHTH IR S I IRIH s JeRRP 30 | B 2
dry cells? acid chloride hydroxide hydrochloric acid ﬁ?{ﬁﬂ 3{Tged UGN fhar ST 872
10|Which effect causes by passing Heating Lighting Magnetic Chemical dl H [dggd YR Ydlied IHI DI S ThIRI™ JHRID NRICIRED D 2
electric current in liquids? T UHIg %?
11{Which material is used to make Lead dioxide Sponge lead Lead peroxide Lead sulphate  [TT9T 31T 93 H B UMHD Wic TS SRS BIEEIS] REERERIES TS Jolbe B 2
negative plates in lead acid battery? CEict %ﬂ DI 91 yerdf v gYar g2
12|Which technique is used to control the | Anodic protection |Cathodic protection|  Electrolytic Electrostatic  |YTd Adg P &RUI & U=V 5 P 3T JR&T HYTSH JR&T | sciaciiclicd IR | R faggd gRam B 3
corrosion of a metal surface? protection protection Y THAIHYINT @?ﬁ %’?
13|Which cell is most often used in digital Voltaic Lithium Mercury Silver oxide fSisicd gigal H JmA=Id: & A dlecgd Terreray URT RicdR 3RS S C 2
watches? ®?
14|What is the effect if one cell is Voltage become Become open Will get short No effect will  [THIR i UIRGY H Tl TP Ha | dlecol A 81 SME Gl TRUY BT SIRRT | TYUTd 81 i | $ls UHTd Tel, C 3
connected with reverse polarity in a zero circuit circuited function normally P! faudta & Iy Ao = = Y
parallel combination circuit? g ST, 1 &1 gHTd 8INTT? AT
15|What is the function of fine selector Selection of Selection of Selection of Selection of dcRl 3MTARD H BIs Jolkae: Rad | YRIIST DI YA | A JHA BT [dlecsl IR D1 IH1G|  HTGRM [d1e) BT A 2
switch in battery charger? current rating charging time voltage range charging method BT BT g2 JA1d JA1d
16|What is the effect on output power No effect on Increases with Decreases with Decreases with [AR YA HAUHH & AU AT [AUAHHA PR UHG | TWHAHIS D | AR AT S | TUHHH HHI B D 3
with respect to temperature in solar change in increase in increase in decrease in T[fad IR 1 94 BﬁTIT’? a1y 1Y HHT qry HH
cells? temperature temperature temperature temperature
17|What purpose the hydrometer is used | Determine the AH | Assess the battery Assess the Determine the  [SIc] H 3R & JHI gIggMICR | Ah &FdI HYURd dedl dicedl TR | del BT FRIARIA | [9ggd 3o &l D 2
during charging of battery? capacity voltage level discharge level of | specific gravity of |l HT B%QCI %‘? L %‘g{ IREZNE] %ﬂ IR Tod ﬁ?ﬂcﬁ’_d
battery electrolyte FAH
18|{What is the formula for Faraday'’s first M = ZJit M = Zit M=it/Z M = Zt/i RIS & [dggd 3fTdc & UYH M = ZJit M = Zit M=it/Z M = Zt/i B 1
law of electrolysis? 7 1 3 7 &2 ) ‘ [ '
19|Which is used as an electrolyte in lead | Hydrochloric acid Ammonium Potassium Diluted sulphuric  [TTHT 3+ Il H [dqgd 3(UHcd Bl | BIEglaaliRD 3 | 3HINIH KR5S gIcIREaY T IHGRP 3T D 2
acid battery? chloride hydroxide acid IRE 1 IUTNT fohan Srn 82




20[{What is the total voltage of the circuit? 1.5 Volt 6.0 Volt 7.5 Volt 9.0 Volt URUY BT Hd dlecol R 52 1.5 Volt 6.0 Volt 7.5 Volt 9.0 Volt
+i };EV
i
] E“:v
L+! LOAD [
21|What is the outcome at the positive Sponge lead(Pb) Lead Lead Lead sulphate + [T 3% I Dl AR Bl WS IS REERERIES TS Jotbe TS bhc+ ofd
plate, after the chemical reaction in peroxide(PbO,) | sulphate(PbSO,) water T fohar & SR YHTHS
lead acid battery during charging? WIE TR &7 SRATT?
22|Why the vent plug is kept open during |To escape the gas | To allow oxygen [To check the level [To check the colour [SEX1 & _3fTaRH & GRIF d¢ WHT ®I |71 &l IR DI <R | 19ggd I BT | W B 7T Jger
charging of a battery? freely enter inside of electrolyte changes in the WE@WG{W%’? CIRSECASE] &Tﬁﬁ%ﬂ WW%@ GIT?:I—:T%E[
plates
23[In which method the battery is Rectifier method | Trickle charging | Constant current | Constant potential |1 I fafel § §c3i &1 HH URT R QPRI fafe fehd SR fater EECEIRECID] fad faya fafer
charged at low current for long period? method method method T GG 9 AR farar Srar %?
24|How the hard sulphation defect in lead |Changing with new | Replacing with Recharging the Recharging the [T 37 §c3l H HOR ehy- [T dggd 3Uucd ¥ | U Sdacis d el Bl HH YRTH | dc] I i URT
acid battery can be rectified? electrolyte new electrodes battery for a battery for short Y BT HY ST Il %’? daddh daddh T JHY dF g: J HY Y T g:
longer period at period at high AR TR AR b
low current current ' '
25|Which material is used as cathode (- Zinc Copper Carbon Silver oxide BEREIESEEERIE IR ST GIEI] HIE ReaR 35S
ve) electrode in silver oxide battery? Terd %Zh?s’(-ve)%ﬁi@'éﬁ g
I {3 wiTelT 32
26|What is the Electro Chemical 0.001182 0.01182 0.1182 1.1182 mg/coloumb [TTel BT [dggd IS Jedih 0.001182 0.01182 0.1182 mg/coloumb|1.1182 mg/coloumb
Equivalent (ECE) of silver? mg/coloumb mg/coloumb mg/coloumb T8 mg/coloumb mg/coloumb
27|What is the outcome of the chemical | Sponge lead(Pb) Lead Lead Lead sulphate + [T 3% I i [ARIGRM Bl S de REERESIES e getbe e Yethc+ Sl
reaction that takes place in negative peroxide(PbO,) [ sulphate(PbSO,) water IS a1 & SR BUTHS
plate of lead acid battery during e IR T 3RAT?
discharging?
28|What is the purpose of separator in To provide a path To hold the To avoid shortin | To keep positive [HIT 3{FT gl H [dHTSlb BT RN | [dggd UUc 8g YATHD Id THD Ud THD Ud
lead acid battery? for electrolyte positive and between the and negative plate 72 RAT YT AT FHUTHS Wl Dl HUTHS I & FHUTHS I DI
negative plate positive and in a sequence array 3 ¥ s X§T | 99 H%ijjﬂ@ef ¥ | HafRa e
firmly negative plates . . _ ] T’@Fﬂ
29|Which instrument is used to measure Barometer Hydrometer Anima meter  [High rate discharge [T 317 dc3] &1 [AIRY 99 SRMH[CR BIRQHICR HEETE 3 aX [ARTARIA
the specific gravity of electrolyte in tester mﬁ%@ﬁﬂﬁmmmﬂﬂ TR
lead acid battery? o ST 872
30[Which type of inverter circuit? Driven inverter | SCR used inverter | Single transistor Two winding Tdc} URgY HIH 1 82 fgd g-acx SCR IWTINId [ Thd CIoReR ¢ | &l DS CHBIHR
L\JVMAJVNJJ inverter transformer inverter 3763?
—
31|What is the effect of buckling defectin | Bending of the Reducing the Making short Increasing the  [TTT 37 okl H bl QN DI [SoidelSl &l Hg oHI| [degdd Uucd bl | Iadcisi & A | 3RS Yoy |
a lead acid battery? electrodes strength of between the internal resistance [T UHIG USdl %’? TIfad &1 HH E?f ST [NCEE]
electrolyte electrodes
32|What is the total output voltage of the oV 15V 30V 45V URUY T Pl [TId dlees T 872 oV 15V 30V 45V
circuit?
8
- e - - e :
15V 15V 15V H
33|Which is used as a positive electrode Zinc Carbon Copper Lithium h I H YATHD Fadels & U SR CacE| GIEl] INIREE

in a dry cell?

7 1 T BT 82




34|What happen to the terminal voltage Increases Decreases Falls to zero Remains same |HR §¢- IR Id & RRI & dlecsl H e Br| I dob TR UM G
of a cell if load increases? T ERT?

35|How local action defect is prevented in | By connecting By using a By connecting | By amalgamating [dlccgd dd H RIHIY hal G b1 al ®I 9o d faYyd® ® d1 | Hal ol IR J ST &I &l
voltaic cell? cells in series depolarizing agent | cells in parallel the zinc plate &Y BT 1T 82 I JTIRT TR I R STTTH TRb

36|What does the letter ‘Z’ indicate in the | Time in seconds |E.C.E of electrolyte |Amount of current | Mass deposited in [M=2z/it g3 H 'z’ 31&R Tl SIId 99, Ibe | faqgd 31gucd o1 URT, TOIR A [Tohiad SHM, I
formula M= Et ? in Amp grams W%’? ECE o

I

37|What is the Electro Chemical 0.329 mg/ 0.329 g/ coulomb 1.1182 mg/ 1.1182 g/ coulomb [didl T fdggd ™™D gedich T [0.329 mg / coulomb| 0.329 g/ coulomb 1.1182 mg/ 1.1182 g/ coulomb
Equivalent (ECE) of copper? coulomb coulomb 72 coulomb

38|Which is the cause for buckling defect | Overcharging or | Charging with low | Formation of Battery is keptin [T URTS X1 H HICAT G DI | 31id MaRH 1 371 | BICI @Y P faq_ | wie F TR arct dc3] &l dd JHg
in lead acid battery? over discharging |rate for short period| sediments falling discharged PRI DI IT 82 IBRCEE] FHR S AY TS | ATIG! BT T Wﬁmf@{ﬁl

from the plate condition for long DAl T G ST
period

39|Which apparatus is used to check the Voltmeter Multimeter Hydrometer  [High rate discharge [§icX1 # Qiccdl o1 1o [RUTd 1 dlecHIcR HecMleR GESIEIE I R FR1ARA
charging condition of voltage in tester T R & ot ford Iuaur 61 TR
battery? IUANT foar ST 82

40[Which part is losing electron during Cathode Anode Electrolyte Seperator SR & GRM DI AT el HUts 3S faqgd sraucy IEEISED
electrolysis? LS| @l %’?




Name of the Trade - Electrician 2nd sem - NSQF - Module 2 - Basic wiring practice

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels

1|How the conduit pipes are specified? Length in metre | Wall thickness in | Inner diameter in | Outer diameter in |®-Sdc Uy & MIqY [hT SId &7 TR, HIcR | GIAR PIAIC, | 3RS ™, THHI | STl o, HHT H D 1

mm mm mm ot o |
2|What is the fusing factor for rewireable fuse? 1.1 1.4 2.1 25 gq:gr{au#amuqﬁaam T[oIT thaex 1.1 1.4 2.1 25 B 1
Hg?

3|What is the purpose of underwriter’s knot for Avoid loose Increase Prevent excessive | Reduce the strain [Usc gIceR Tl o oY 3SRI5ex Dl M3 [eld A1 I §<1a| 1D iad H Jl | ATTD ?E[ PR (FHA G CHAQIY [ D 2

pendent holder connection? connections mechanical cap cover from the terminals [T G%QH Calf %? qETd & AT aHTd HH B
strength pressure of accessories
4|What is the type of fuse? Knife edge High rupturing Ferrule contact | Diazed screw type WIS I I UBR &I 5?2 Iqh YR Blicel | BT TSI &HdT bhod Aol SRS Ud UhR B 2
cartridge fuse capacity fuse cartridge fuse cartridge fuse RS T’ Wﬁ\_ﬂ S EETEG[ RS
§
5/What is the name of electrical accessory? Bracket holder | Edison screw type [Angle swivel lamp | Goliath Edison  [[dggd |l BT 71H R & S gltey TS ¥p YR I Rgdd @Y *Ilim%?(-rqqis%ﬁ 5 B 1
holder holder screw lamp holder IR R IR

6|What is the name of symbol used in wiring Link Fuse Pull switch Plug and socket  [ARIRIT URYY H Ugad Udich bl TH R & INED Tl Jd R T 3fR Hlhe D 1
circuit?

7|Which type of load is protected by the L-series Motors Geyser Hand tools Air conditioner  [L-9UIl MCB & gRI {6 UhR o HR Bl R TToR SIS CIGIGEINED B 2
MCB? IRI& fomam Sira g2

8|Which type of switch is used in the circuit? One way switch | Two way switch Intermediate | Multiposition switch |[d TR &1 e HRE H SYANT HRd 67?2 Tohd d a9 RESE] gc]HIIcdC [Rdd | AcciulvRA a9 | B 2

switch

9|What is the effect of low current rated cable Voltage drop Load current Voltage drop | Cable damage due |®H YRIICS Had &l 3o YRI YR F Sie- dlecs UTd de UR YRT el dices Uid gt | 7T & HRUI had D 3

used to connect higher current load? increases increases decreases to heat CRIRCLIE) @W? AR
10|What is the name of the conduit accessory? Solid bend Solid elbow Inspection Bend | Inspection elbow |PH~c ATHUI BT T AH 52 RGES B Tedl [ENEEES FRiefor Teal C 1




11{How many two way switches with intermediate 1 2 3 4 AYqdl Rad & A1 fbdH ;f' d R9 U@ 1 2 3 4
switch are used to control one lamp from three P I SITHT-3{eT RI'Fﬁ J PP
different places? for SuiT fovu St &2

12|What is the advantage of concealed wiring? Easy to maintain | Less voltage drop | High insulation | Protection against |®dlce a1 &1 I BRIGI 872 JHAHH I | DA UId |3 pdIad Uiy A H JR&T

resistance moisture
13|What is the name of the diagram? Installation plan | Layout diagram | Wiring diagram Circuit diagram  |3R% &1 T 719 82 RITYAT AT T3 3RY R 3RE TRUY 3RI
3

14|What is the fusing factor for high repturing 1.0 1.1 1.4 1.7 HRC WSl 5 WIS UM 1 67 1.0 1.1 1.4 1.7
capacity fuses (HRC)?

15|Which type of relay can be operated at both Ferred relay Thermal relay Impulse relay Dry reed relay  |{h¥ YR & RA HIA.C R D.CTHH s Ra Y R 319 Rl 3Ts s Ra
A.C and D.C? Tarferd fasan S Wb 52

16|What is the name of the accessory used in 2 Pin plug Three pin plug Iron connector | Flat connector with |[dggd SUBRUN H Yo ATHUI D1 T ITH 52 2 T dF 09 @ Y TR D T | S Ja= & i
electrical appliances? with direct entry side entry NIEREISCY ERGE UGS

17|What is the name of the accessory symbol? Bell push switch | Two way switch | One way switch Multi position  [THUT Udie &1 ATH HIT 57?2 9 I Rad FEISE] dYdaTd Rad | 9g [Ud Tha ¢a

two poles switch single pole gl

18|What is the purpose of the flexible cords in Concealed wiring Permanent Run cable Connection TR dRI H el dRT &1 1 I 67?2 TSI AR R TS SINIEE T S EEE CISEE R

domestic wiring? connection through holes in transportable WW@[WW FRA
ceiling appliances

19|Which type of circuit breaker is used above 100 | Miniature Circuit | Earth Leakage Moulded Case Residual Current |Th3 TRUY Holdh &1 SUTANT 100 A URTIICT [[HIHT=R Aiche Shr| Y Tichol Jibe | HIts s &y Hiche | AR YR Hidhe

A current rating? Breaker (MCB) Circuit Breaker Circuit Breaker Circuit Breaker @TWWGHHT%? ECaY L ECa
(ELCB) (MCCB) (RCCB)

20|What is the purpose of tin coating on copper Withstand high [Increase the fusing | Prevent oxidation Increase the  [d19 & WISl AR WR T BlIcT & &1 350 | I AIgHM o1 (W UMD A dlg| GIE d dR BT | AP Mad H Jl
fuse wire? temperature factor of copper wire  [mechanical strength|5? ST tHRUT T

21|What is the name of the four insulated Pair Core Quad Layer IR HAIeld TPl b HHg bl T ATH 67?2 EIE] oS EaS Rd
conductors group?

22|How many two way switches are required in 2 3 4 5 TR o9 DI I R+ & (o1 TMGTH IR 2 3 4 5
godown wiring circuit to control four lamps gfthe § frda 3 Re & o smags g

23|Why tree system of wiring most suitable for Easy load Constant voltage | Offers minimum Easy in fault  [SgHIoTeN SARA & TelT IR @I ¢l Toma M YR g | I dlecs [9aR0T | AdH diecs Uid | B Hol & A1
multistoryed building? balancing distribution voltage drop finding with many qay SUgad i %? ‘@Tﬂ a9 T TRadr

fuses

24|Which is used as a filler material for fixing Paper Nylon Cement Poly vinyl chloride [SiTelT H ¥f &1 8¢ ¥R &g HR1d Uarl & BT EIEGIE] dHe EIGIERIES

screw hole on ceiling? U H frgest IUTT fbar oirdr 872 FARISS




25|What is the symbol indicates? Table fan Ceiling fan Bracket fan Exhaust fan g Ydlcd T GRIdl 872 el gm Bd BT Ul sidhe gl EEAGEIC]]
§
26|What is the name of the relay? Impulse relay Dry reed relay | Electromagnetic | Mercury wetted [IRel &1 ATH &1 52 31aT R 3Ts Js R faqgd g id R | URT el Jus Ra
relay contact relay
-
‘ — g
27|What is the name of the diagram? Layout plan Wiring diagram | Installation plan | Schematic diagram [3R¥ &1 RIT A1 §° REIREREIRE] AR RE RITTT GToTT oG 3RE
§

28|Where the Iron Clad Double Pole (ICDP) main | Large industrial | Control main or Single phase  |Three phase power |ICDP H& ¥ &1 SUINT 68l [l WIdl &2 |99 3N RITU[H¥T g1 YR Thd el TR, dH Tyl XMad

switch is used? installations branch circuits domestic circuit installations URUY &1 g0 [RaToET RGY RITET
installations

29|Which electrical accessory belongs to general Fuse Ceiling roses Intermediate Pendent lamp  [®1 ¥l [dggd AU, AHMI & FHA EPE] TTerTT Aol ScHileUc Rad | Usc AU gleeR
classification of accessories? switch holder Frffevor § Twiferd %’?

30|Which is the application of DC series MCB? AC motor DC motor Locomotives Air conditioners  [DC 4l MCB &1 3IIWAN DIF 1 572 T Al ST AR dlbIHIed CIGIRCANED

31|{What is the term for the time taken by a fuse to Time factor Fusing factor Cut-off factor Fusing current  [GINY H Tl ol SMYd R b o1C TSl GIRT Y TUTTh RIS T[0T e 3T Tlh RIS YRT
interrupt the circuit in fault? WWWW%’?

32|Which place the Tree system of wiring is most Godown wiring Industrial wiring | Domestic wiring Multi storied a1 ¢l RReH Tl R IR Iy TieTH AR SMITD AT R AN g HISTAT Had
suitable? building Jugad 872

33|What is the maximum PVC conduit size to 12 mm 19 mm 25 mm 50 mm IRI&T SST HISH o IeTC YIa™dT el &bl 12 mm 19 mm 25 mm 50 mm
make safe cold bending? SfeHaH &WRER:IT%?

34|Why separate wiring is recommended for home | Avoid electrical |Reduce power loss| Avoid electrical | Maintain voltage |G TTCX AR 3R UTaAR IRART & e [SSTell 1 ST (RIS BT BH BT Taofell B HIADRUT | dlecol Wk R
theatre wiring and power wiring? fire interference level constant | 31RT AT &1 RGN &1 B1 Sl 82 EEIC] CEIY RLG]

35|What is the name of the lighting circuit? Tunnel lighting | Corridor lighting | Godown lighting | Staircase lighting [UhTRITI URUY &1 &1 TH 57?2 AT UBTR AR | TCRRI BT | TGTH UbTRN AR | Hie! UbTRI IR

wiring wiring wiring wiring T
36/What is the tool used to bend conduits? Hickey Coupler Pipe vice Bench vice PHIC Bl HIS D 1T [ H SUDRU] Dl Ed DHUIR PIECEIED EEEIES]
I foaT ST g2
37|What is the expansion of MCB? Minute Control | Miniature Circuit | Minimum Current | Maximum Current |MCB &1 [d¥dR &1 82 e Pl dbx  [[HIFTER Alhe Shr| GAdH DRC bR | 3B ITH DHC SR
Breaker Breaker Breaker Breaker




38|What is the purpose of ELCB? Detects the fault Monitors the Protects the Protects from short [ELCB &1 35.%d HIT g7 URTY H Y TloAT| A=Y 4RI Bl | STAHR F SYHR0T U T IUDHRI
in circuit residual current | equipment from circuit fault Cil gRE&T HIdl ? GRET HdT ?
over load
39|What is the purpose of the fuse cut out To ensure the line | To maintain the To protect the To protect the |3 T&oTell 3T H UG [T T WIS T | FT JIHIEd B o | TRR 3M1Y(d dlecol | Hlog DI Tl dTid 39T Bl
provided at the incoming power supply? is not over loaded | stabilised supply circuit from the [human beings from WG%QEI W%’? foa E W@ﬁ%%ﬁ W@fﬁﬁ%%ﬁ ﬁﬁ?ﬁ?%@f
voltage leakage current electric shock SR T8t %’ AT off 9
40|what is the use of die stock set? Cut external Cut internal Cut external  [Cut internal threads [STs Widh I¢ &I HT ITINT 87 FMORURIH | SAHR TRU R | THIPR TRU W | ABR T-Y TR
threads on square threads on threads on on rectangular pipe TR IS BleAT | 3MfdR® IS BIeAT | ST IS el JHTaR® s Hle
pipe cylindrical pipe cylindrical pipe — .
41|Which classification of accessory the ceiling Outlet accessories| Safety accessories Holding General I Il bl AU D Ty ariipRor H T et TR aredt gies T ATt H AT
rose is classified? accessories accessories Eﬂm ﬁv_CITTFCIT%? ‘ - . .
42|What is the purpose of the circuit diagram in To show the To estimate the To inform the To show the AR ST H URUY 3RW DT 5= RIEPIEIRIIGED Fibc HIAIHA | UISD bl Sleal A [Tl [ARIY B &5
wiring installation? physical position various reader quickly schematic FATE? ffa fowm & fow | Imsh &1 STH ﬁﬁlﬂﬁﬁﬁm fore wfhe &1
of accessories | accessories in the what for the connection of the SUIEET f?ﬂ! & afde ﬁv_ﬂﬁﬂ @W B
circuit circuit is designed | circuit for a specific 3@. Rl oo mar % ﬁ@ﬁ > ﬁ’ltf
task i _
43|Which electrical equipment is provided with ‘L’ | General lighting Motors Air conditioner Halogen lamp 'L’ 4¥d1 MCB & H1Y D1 ¥ [dggd 3UdRUI SEIGISIEE AR EIGIRERY NISEESE]
series MCB? UeH fot S g2
44|Why the looping-back (loop in) method is Easy to identify | No separate joints | More number of | More number of |8 AR SR H JUT-9% (T 3) G Pl Ugd | Pl A I SISl gH & H | 3fige I H 3U-
preferred in domestic wiring installation? the faults are used tappings can be | sub-circuits can be ﬁfﬂﬁl@fq’ﬂ'c{ﬁﬁlﬁﬁ%? HAT W% BT IUTNT g1 fopar | iU Hﬁﬁﬂmé FI'%‘C’WGT
taken made NGl % qHhd %
45|What does the symbol marked ‘X’ indicate? Number of wires Number of Number of battern | Number of clamps [UGIRId [<ig 'X' T GRITdl 57 [MERARIDI | HAdc g & o | S (3N Uy $I | FiU () Ty B
run on the limb switches to be (or) pipe to be | (or) clips to be fixed AT ga o d=m AT g hRAT LT g hHAT
connected fixed
250 |50r 300
3 3
X 8500
\5 3 3 4%
&
46|What is the name of wiring method? Joint box method |  Looping back Loop in method Loop in method  [arIRTT 1QTeT T o1 ATH 82 TYad diay [a1d SIEREEAEIR] 3 Tic Oifem A | 2 weie ifei Il
method using 3 plate using 2 plate WE’C@"TW@ WWW@
ceiling rose ceiling rose Eol fafyr Eol fafy
R
EWL
47|What is the name of the diagram? Staircase wiring | Godown wiring Hostel wiring Tunnel wiring |3 1 T -TH 57 il IR MG arIRT BRCA AR I IR
SO :
d
48|What is the type of relay? Impulse relay Dry reed relay Latching relay Electromagnetic |IR<l &1 UhR HIT 52 3T Rl S5 s R AT R [d¢gd b g Rt
- B relay
]
49|Calculate the earth fault loop impedance, if the 166 Q 1666 Q 16.66 Q 16666 Q 31 Y U UidanT &I 0T X, Iie ELCB 166 Q 1666 Q 16.66 Q 16666 Q

ELCB tripping current is 30 mA?

fefthT e 30 mA B2




50

What is the type of wiring?

wh1s1411

CTS wiring

Cleat wiring

PVC conduit
wiring

PVC casing and
capping wiring

g IR D] DI Il YhR 67

CTS drai]

ERIGCIEIE]

PVC ®sgc T

PVC I 3R

51

What is length of thread on rigid conduits as
per BIS?

9mm - 20mm

11lmm - 27mm

13mm - 25mm

15mm - 30mm

EERGEERSRE eSS
EIEEIN

R IS I

9mm - 20mm

11mm - 27mm

13mm - 25mm

15mm - 30mm

52|Which type of conduit used for gas tight Flexible conduits |Rigid steel conduits|Rigid non-metallic Flexible non- [T CIgc [d¥hice RITGAT & Told /by UhR Al hodc | POR I hode| DR HUldd REINEEIRED
explosive installation? conduits metallic conduits [T WWWWW ? DHSJC =
53|What is the function of circuit breaker? Making contact at | Making contact at Breaking Physical breaking [Hihc SHR BT HII R 5?2 BEISIRIE AR TR H | SNMHI R H | STHRT [T H
normal condition |[abnormal condition| automatically at contact at U HIAT TUdh BT WA ®U Y | Hifde =0 ¥ Iudh
abnormal abnormal d S d S
condition condition . '
54|What is the function of bimetallic strip in MCB ? Over load Short circuit Over voltage Earth leakage  |MCB H Tg¥Ticd UGl &1 S R 52 SMAHR I T AYUYT JR&MT PP dlccal A JR&|  31Y RATa Jran
protection protection protection protection
55|What protection offered by residual current Protection from | Protection from | Protection from Protection from | 3{@lRIY YRT Hlbc SR GRT T JR& UG e I GRafl SAHR T JRaf AYUYT &M | Alhol YRT I YR&T
circuit breaker? shock over load short circuit leakage current ?
56|Which wiring is suitable for temporary Cleat wiring Concealed wiring | PVC conduit | Metal conduit wiring | 3RITIT UIAFTT o 1ol 19 JI IR IUYed | hellc araRT P TN | UMl hec dR[ | YT hredc ardNT
installations? wiring %?
57|Where the phase conductor is looped in looping Switch box Junction box Distribution box | Socket connection [T & U RICH H ol hodeR Dl dhgl CEEIES BESEEICE] CRRUEIES Tldhc JToH
system of wiring? CHTTAT SITdl 872
58[How many link clips are packed in cardboard 50 clips 75 clips 100 clips 150 clips ERRANEAESREIERIER 50 fog 75 To 100 T&RTT 150 TR
boxes as per BIS rules? aﬂéaﬁéwﬁ%ﬁ?qaﬁ%?
59|What is the application of the wiring circuit? Two lamps dim Two lamps Two lamps One lamp bright [T Hiche BT STUIANT R 52 Gl AU A Hae | TP RId gRI AU Rad TP dU I=ad 8RR
operation only | controlled by one | controlled by two | and two lamp dim BEIECRARSL FRERIER 3l o Hie e
switch switches operation
Ly Lz
L.
60|What is the reason for home theatre wiring not | Avoid leakage Control Avoid electrical | Reduce the power [gTH TR IRIRT &I UTaR IR & A1 el | B1H [ITR GRINT_| G PRI qRIRAT | 3ffsal, diteal | Taofal &f 3igid |
to run along with power wiring? current in home temperature in interference in consumption in | ] HT HRUI 87 e e A ad| dFgaudoaq | Ren d 2 fororett @t @uaaé‘r
theatre wiring  |home theatre wiring| audio, video power supplies WZ%ER}[ FHH DY
system
61|What will happen to the value of earth Remain same Increases Decreases Infinity i 314 Ursy ol ddlg 96 Sldl @, ol 3 & a8 deil Bl 3=adl
resistance if length of the earth pipe is gfaRIe & H/IF &1 T BﬁTIT’?
increased? ] i . ]
62|Which types of accessories are used to operate Safety Holding Outlet accessories Controlling UIcd SUDRUl i Falieid h b [T (b JREN D IAHA | Ubs IIg ATHA BUCKIGIG] EREUESICIE
a portable appliance? accessories accessories accessories UHR & FTHMH &1 ITaNT far Sidr %?
63|Which insulation is necessary for proper Double insulation Functional Reinforced Supplementary  [3Ted BT 3R giaTG! & P el DIH AT GBI PAdDd | PAIHAD Haldd | Udlcld pAIcd D D
function and basic protection? insulation insulation insulation REINED &I'IHW%? i .
64|Which type of accessories of fuse is comes Controlling Holding Safety Outlet accessories [WIST ¥ YBR & AMHH &b AId AT 5?2 =0T ATH Uho aig MM | JR&T D JHH I THH
under? accessories accessories accessories . ' — i
65|What is the expansion of ECC? Earth Conductor | Earth Continuity | Earth Carrying Earth Continuity |[ECC &1 Jd%dR &1 8?2 Tl H8FR gd] TRaRdl MY BRI hedeR | gl FRARdT e
Continuity Conductor Conductor Cable IGEGRGI DHSICY
66|Which type MCBs suitable for halogen lamps? | ‘L’ series MCBs | ‘G’ series MCBs | ‘DC’ series MCBs | ‘L’ and ‘G’ series [g<lol- ?$WWWWW@T ‘L’ 4dT MCB ‘G’ §EATMCB | DC' @A MCB | L' 3R 'G' §@al
MCBs SUYdd &2 MCB
67|Which type of lamp holder is used for the lamps | Edison screw Goliath screw Angle holder Brachet holder  [300 @I ¥ $UR & ¢ & [eY [h ¥ UPR b TS TP gicer | Ty Ud glesR I BISR S gl
above 300 watts? holder holder <0 YRe T IUGI {3l Il 872 . . ' ‘
68|What is the expansion of AWG? American Wire American Wire American Wire American Wire  |AWG o1 [adR 1 87 SMHRDI IRR TS | SHRPH TR IS | 3HARBT dARR IU | 3ARDT a”R TS
Gauge Grade Group Guard




69|What is the name of BIS symbol? Lamp Two way switch Intermediate Multi - position  [BIS Udleh 1 -TH &1 52 g FEASE] geHitSue R §g T Re=
switch switch
70|What is the type of diagram? Wiring diagram Circuit diagram | Installation plan | Layout diagram |3MR& &1 UbR R 572 IR 3RE TRUY 3R RITTT IS A33C 3RT

EL1M29L1




Name of the Trade - Electrician 2nd sem - NSQF - Module 3 - Wiring Installation and Earthing

# Question OPT A OPTB OPTC OPTD Question OPT A OPT B OPTC OPTD Ans Levels
1|What is the minimum size of copper 3 Sg.mm 3.5 Sg.mm 2.5 Sq.mm 1.5 Sg.mm SISTSTY & STUR Thd =0T TR 3 9 HE] 3.5 97 THHI 2.5 9 [HHT 1.5 9 T#E] D 1
earth continuity conductor used in i ¥ aier o fARaRdr dedex &
single phase domestic wiring as per YAdH HTHR T %?
BIS?
2|Which method is used to reduce earth | Increasing the Keeping wet Adding more Increasing the  [HIS[GT 31 TS H 1 YIRIY A Bl | AdCIS Dl dals | URdl b ; % TEHR | TgH AR | Y 3oacls I AN B 2
resistance value in a existing earth? length of electrode | condition in earth sand and diameter of earth o ugfa &1 I EEE TN T G IRBIA HIAT deld
pits always charcoal in earth electrode forar ST 872
pits
3|Why A.C is required to measure the Regulate the Increase the Decrease the Avoid electrolytic |31 TIaRTY TRI&®H 1 SUTNT Db 3 | HRE DI MIHAT DY | dlecol Uld 9gI4 dlees Uid Ueld | Tdgyd 3g4ucd fadl D 2
earth resistance by using earth current voltage drop voltage drop emf interference %Qﬁffﬂ?ﬁm Ffmac ¥ P g
resistance tester? ALl i %’?
4|What is the formula to find voltage Voltage drop = IR | voltage drop = I’R [Voltage drop = I/R | Voltage drop=IR/2 [A.C T&d Wl GRIRT GRUY &P dlecol | dlecd UTd = IR TITT |gieesl UMd = IR dlee| dleedl U1d = /R dlee | dlecd J1d = IR/2 A 1
drop of a A.C single phase wiring volt volt volt volt wﬁﬁmaﬁmqaw%?
circuit?
5|What is the maximum permissible 800 Watt 1500 Watt 2000 Watt 3000 Watt |.E THOHT & 3UR UTR IU-URUY & 800 dlc 1500 dlc 2000 Watt 3000 Watt D 1
load for a power sub circuit as per |IL.E %IE SfeHaH HR R %’?
rules?
6|Which location the service connection IC cut out Main switch Energy meter | Distribution board %@{Eﬂ@ﬁw TS 3MYfd | SISl Be 33 T Raa FHorHTIT ERUEIS] C 2
supply leads to be connected at \“zl@ﬁﬁ?ﬁ ?
consumer main board?
7|What is the type of test in domestic Polarity test Continuity (or) Insulation Insulation ‘ﬂ'{?]%dlqie*l RITYAT H TRI&T0T DT UhR FERIIE] TRCRdT (A1) Jell EISEaE g ATcAD| T YH Db A 2
wiring installation? open circuit test resistance test resistance test |1 &? gy S N gfeRTY Sitg | g W gfeRly
between between
O EISES Jr conductors conductors and
o m{ ] I el earth
WE ﬁ
L— L,J FUSESIN
8|What is the permissible leakage 1/5 x Full load 1/50 x Full load | 1/500 x Full load | 1/5000 x Full load [2RT] IR RITGHT H 3JHA RATG 1/5 x gUI HR YRT | 1/50 x YOI HR YRT | 1/500 x GUI HR YRT [1/5000 x GUI HR YRI[ D 1
current in domestic wiring installation? current current current current A T %?
9|Which formula is used to calculate the | Diversity factor = | Diversity factor = | Diversity factor = | Diversity factor = [[JIQ¥dT 0T i TUMT HRH &b TelT SR dH HR/RIMUG |RITYd HR/3MIdhdH | FIdH dRdidd MY HR/GATH [ 1
diversity factor? Maximunioad Installed_load Minimum actual load | nstalled load e 3 1 IUT fosaT el g2 HR HR HRRTUT 4R IRdfde R
Installedoad Maximum load Installed load Minimum actual load
10|Which instrument is used to test new Multimeter Megger Shunt type Series type T TR RITYT b1 TRIEUT HRA HecHIeR AR R UHR AT AR | A0 UDR MF HICX | B 2
domestic wiring installation? ohmmeter ohmmeter & JUHRUN BT IUTNT foban
AT 52
11|What is the type of test in the wiring Polarity test Open circuit test Insulation Insulation IR RITYAT H TRIEUT DT YbR R adi S T gRuy S D] b A ATdAD] Ud YiH D D 2
installation? resistance test resistance test %‘? EEINED Uiy S | g EEINED ufeRIY
between between SIE)
conductors conductors and
earth
12(Where system earthing is done? Generating station |  Electroplating Small industrial Domestic wiring  |IRI&H AT gl [hdl STl 52 SRICT T RM Al RITUAT | BIcl T RITGAT| TR T-IRTRITGAT | A 2

installation

installation

installation




13|What is the test to be carried out by Polarity test Insulation Earth electrode | Earth conductor [HTR &1 SUART $hReh T WRI&UT [ PeCISIE] CEINERIRNE] Y SAagls WaRIY [ AT -Ra=dl Sird
using megger? resistance test resistance test continuity test G‘HT%? TRi&or SIE]

14|What is the reason of lamp glowing Open circuit in the Short circuit High value series | Open circuit in the [d¢] IR Aibe H U THD HH AR | YA Az H Gl EINEIEZEIE] I HF 90 oY | Y JHUS dR H el
dim and motor running slow in a neutral line between resistance fault earth conductor  [AeR WTﬁ@WWWW%{? ooy NECEE] gRuy
domestic wiring circuit? conductors

15|Which wiring installation the System Substations Godown wiring | Domestic wiring | Commercial wiring [RReH 31T 7 Ty ar—IRIT RITIAT o KL TeTH TR TR AT AT AR
earthing is to be done? %IQ%EITGI'HT%’)

16/Which method of earth resistance Fall of current Fall of potential | Current dividing | Potential dividing %En JTaRIY |1 Bl 19 i 191 I HC BT HH gl faya &1 uaq YRT [qHTSH faya fauTeH
measurement is illustrated? ?

1
AV
A B c g

17|How to control harmonic distortions in | Earthing through | Providing by plate Increasing Providing parallel [IE 790 & SfTdR 3R HgIor H UldeTeT o ATAH A | wie YT gRIUGH | el Bl 3ThR AR AT ST

neutral connections as per IE rule? impedance earthing conductor size earthing Bﬁﬁ$ 3! Hq afd fear DAl delHl
ITe?

18|What is the function of current Converts A.C.into | Reverses the Changes D.C. Reverses the  [37%] UIcR[Y TRI&® H YRTIhHD BT | THL PISL WL H | D.CPIYIAA DI | SII MY DI TH | S+ DI AL Bl

reverser in earth resistance tester? D.C polarity of D.C supply into A.C [direction of rotation P T 82 giafdd Har g 3ae earg G-I'I'qﬁ EESE AL |
supply of the generator

19|What is the advantage of stranded Cost is less More flexible Less voltage drop | More insulation  [Jd §T $HSdcR P 31 BSdc Bl AN HH B EIOCAREINI] DY diecs Urd 3ffh HaTcID
conductor over solid conductor? resistance SNEL T 7 BIgal 872 gfaRIY

20|How the earth resistance can be Providing double | Reducing the pit Increasing the Decreasing the |Gl & UIARIY Dl by DHH bl Sl G AT Y | AT H W ITg Bl | Slacls &l AWy | Fadels Dl T
reduced? earthing depth for earthing length of the length of the Taball 872 HAT DHH DT delHl YT

electrodes electrodes

21|What is the reason for supplying AC to Provide Protect the coils in |Reduce the value | Avoid the effect of [ga@dl UfcRIY 1 AT & folT Saiacls TR Taggd RS AR A psdl dl | HAIRHYRI BT AA | [9ggd S(Uded TaaT
the electrodes for measuring earth electrostatic shield the meter of current in the [electrolytic emf Gl Q?ﬁ EAl aﬂcﬁmﬁ Gacl BTF\"UT%? UalHd HY ﬁ?’f\&lﬁ REC| DG Ekal BCl
resistance? meter interference

22|Why the pointer is not stable at zero Itis not having | Provided with air | The deflecting The deflecting  [HTR SUANT H Tol ¢, (R HI I YaP | o SogUl Bl _ [T IW0T ST UG | 99 Semgul 4RT | Taerer Sargul orT
on the scale as the megger is not in controlling Torque | friction damping | torque is directly | torque is directly W@W@?W%O ﬁﬁﬁﬁﬁww% Pl %W‘I’g’ql'cﬁ% %aﬁ%mcrﬁﬁ%

use?

proportional to the

proportional to the

current square of the
current
23|Which is proportional for the deflection | Current in current [Current in potential | Speed of the  |Ratio of the current %ﬁfﬁ UIRIY TRI&® H SMGHICR g b | URTPSAI HUYRT | [AUT PSAl HURT | god YU &I TMd [l Hsiordl H URT BT
of ohmmeter needle in earth coil coil handle rotation in two coils WW GW%O SRCIG)
resistance tester?
24{Which principle the earth resistance Self induction Mutual induction | Fall of potential | Fleming’s left hand [Jal UIaR1Y TRI&fP T [GId TR T WROT 3= IR TaHg U1d 11y TR T STU BT
tester works? method rule PTH HdI %‘? P |
25|Why system earthing is different in It protects human | It protects from all | Itis associated | Itis connected to [IURUI 3{ATT DT g1 H RRCH AT | T8 had A bi | Ig IHI URUY GVl [I8 YRT I8 dIcihl | I8 IR YRT dled
utilization than equipment earthing? only circuit faults with current the non current GWTEEIT%’? ?&I‘[W% @Eﬁﬂ?ﬂ% @fﬂﬁiﬁﬁ% H@Gﬁ@fﬂﬁiﬁﬁ%
carrying carrying metal work
conductors
26|What is the effect if a person receives No sensation Painful shock | Heart convulsions Become gic T3l AR HI 20 mA 4RI BT s Jdal gl GoAID Fch] gad HTaTd SHEGRE
a shock current of 20 mA? unconscious WW@H‘I%@TWUWW%’?
27|Which electrical equipment ‘L’ series Geysers Locomotives Halogen lamps Air conditioners  [MCB & T fdggd 3Uabrur 'L Jult TR RICALIGE galed dg EIGIRCANED
type MCB's are used? WWWW%’?
28|What is the megger reading in a dead 0 MQ 1 MQ 500 MQ Infinity TS AY AN SR H AR R UG 0 MQ 1 MQ 500 MQ 3fd
short wiring installation? el %’?
29|What is the advantage of crimping? Gives neat Reduce load Avoid loose Easy to replace |fhI¥TT I I BRG] 57 B GRIFTUGAI o | HUR URTDH DR [aldd JAIoHI Dl Al SR A dea]
apperance current connections




Name of the Trade - Electrician 2nd sem - NSQF - Module 4 - lllumination

# |Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1{What is the S.I unit of luminous Lux Lumen Candela Steradian QA digdl Bl S| FbTs HT 872 A gH Drodl SNKDE] C 1
intensity?
2|What is the working temperature of 1500°C 1800°C 2000°C 2300°C ag?rq BT PRADBR] dIg TfodHT 1500°C 1800°C 2000°C 2300°C D 1
filament lamp? @'cﬂ %?
3|Which material is coated in tungsten Silver oxide Phosphor powder |  Fluorescent Barium and TFIRIEC &I 94 H ¢IRe A 3aagls BEREESIES IR T3S TRIRIHC OISR | IRTAQUIEIR[A | D 2
electrode of a fluorescent tube lamp? powder stroatium oxide ! frg uerdf T Afta foar smar g2 SICSIES)
4|Which position MB type high pressure Vertical Inclined Horizontal Any position MB PR & 3= qId UR] AW dd JEeR p1g3M RicE] @iy Hi U D 2
mercury vapour lamps are operated? g fufa & e frd S 82
5|What is the function of leak Reduce the Reduce the Increase the Ignite the high I aId HIlSTH asd Y URGY H | T YRT I ICHT | PRIPRI dlecsd Dl | PRIGRI dlecs I | TRY H 3 dlecs D 2
transformer in high pressure sodium starting current working voltage working voltage voltage initially E’Hfb"lﬁ? BT R B g2 PG del I PGl
vapour lamp circuit?
6|How stroboscopic effect in industrial Connecting Connecting Connecting Connecting two SMENIP &l R[S dTge it H HYTRA D] MY & | HUMA B] 3MMY[d D YRADITD | HYUIRA BT AP _ C 3
twin tube light fitting is reduced? capacitor parallel | capacitor in series |capacitor in series |capacitors in series YT HY FABIAIG? | THRR A K| PN | R[EdIRC & guft o [CRIEE & goft o
to supply with supply with one tube light| to each tube light HRAT IS @R IS R
7|What is the current carrying capacity 50 mA 100 mA 200 mA 300 mA TRIIR B1 IdT do1 &Hdl R g, 50 mA 100 mA 200 mA 300 mA D 2
of flasher, if the current is 100 mA in uﬁu@m tfed # #e 100 mA %’?
each row?
" §
8|Which term refers that the flow of light Lumen llluminance Luminous flux | Luminous intensity | ¥HAd ¥dg H UPHRI & UdTg bl D qH ENIEER JHDCR Udlg FHDBGR digdl B 1
into a plane surface? WWWW%’?
9|What is the purpose of ignitor in high Decreases the Increases the Decreases the Generates high | 3= G99 HIlSTH a1 old Hidhe H RTINS YRT B Id Tg dlccol Dbl |9d Ig hRC Dl ucrdl HHE R I D 2
pressure sodium vapour lamp circuit? starting current running voltage running current voltage pulse at TR éﬁ?ﬂﬁﬁaasq ER?IT%? ‘aE'IT‘lT% EE'IHT% & 344
starting GGl %
10{Which type of light fitting design has Semi direct type | Semi indirect type [Direct lighting type Indirect lighting type| Th¥l U®R 1 THTRI ThicH TSSiTgA 31 T UPR Y AL PR | TIH TP UPR | UIH UPRIUPR | B 2
free from glare? DY I Had %’?
11|Why the outer tube of a high pressure Increase the Withstand heavy Withstand Reduce the ultra |3 gd 3 g 5SS U ®] SRR cJd | TPRIGHE deid | YR A9HT &l H64 | d-gHAS AN Ga1d ol ICEECTTEE 2
metal halide lamp made of boro lighting effect temperature atmospheric violet radiation from IR W“@f?ﬂiﬁfﬁ?ﬁ%’? Gy ﬂ%‘lﬁ fafe=ur & 1 B
silicate glass? pressure lamp
12|What is the term refers luminous flux Lumen Candela llluminance Luminous intensity Q‘lﬁ%ﬂd 3 DI IR YHTRI Al gRT qHA bl ENIEER JHBGR digdl D 1
given by light source per unit solid 2 718 IHPHER UATE P T HEd 772
angle?
13|What is the unit of luminous flux? Lux Lumen Candela Lumen/m? THBHGR UdIg Pl 3hIg I 5?2 q qHA Podl A/ 1P B 1
14|What is the unit of luminous efficiency? Lux Lumen Lumen/m?2 Lumen/watt THDGR G&Idl Pl Shlg R 6?2 RE] qH A/ P g/ dTe D 1
15/How the rate of evaporation in a Filling inert gas | Producing arcin |Reducing filament | Increasing filament | d&JH Fcd H qTW[HRUN Df G HH 3{Tehy T HAT Jed H 3{Th DT g UIcRIY 1 HH SREIGRPERE] A 3
vacuum bulb is reduced? bulb resistance resistance FI B g Jdiad HRAT
16|What is the main advantage of coiled | High melting point | Higher light output | Low operating Low power Psicid Hsdil g bl JBH TATH R 5?2 R KISEIED I UHIRI IATGA | HH A dlecsl | PH GO di@ud | B 2
coil lamp? voltage consumption




17|What is the name of the reflector? Mirror type Soft light type Parabolic type Dispersive type WRIAdD BT ATH R 52 gUU UhR TR YHIR YhR TRAdAAD bR Tl dTdl YR
H]
:
18|What is the name of light? Spot light Bulk light Flood light Flash light UhIRI 1 TH HT 52 SRR CISCRIEE] ESENIES ENEIGIES
7,
N
19(Which device provides ignition voltage Arc tube Sodium vapour | Leak transformer |  High pressure DI F IUDHRYT IR dlecs Uad 3T &[d sy aryg 19 TRWBIER J=d Gad
and act as choke in a HPSV lamp? aluminium oxide | @8 3R TH L} TgHIfATH SfiaEs
e & =0 H BRI HT 82
20[What is the name of lamp? MAT type MV HP metal halide MB type HPMV | MA type HPMV lamp Y BT A T 52 MAT UbR MV dU | TI0T 9T 815 @ | MB UbR HPMV MA UHR HPMV
lamp lamp lamp
21|Which type of lighting system is used Direct lighting Indirect lighting Semi-direct Semi-indirect  [TRTS 3R AT UDRI TR P [T UDIR SYE] U 3Y-TE UDBTRI 313 YDbTRT
for flood and industrial lighting? lighting lighting foTT fFrYg UPR ot UHT STaRIT BT
U] o Tl 82
22|Which is the cold cathode lamp? Halogen lamp Neon sign lamp | Fluorescent lamp | Mercury vapour [®Ice HYUTS iU &I AT 5?2 NISEENE] A Yobd GIUPp TRIRIEC dg URT A Ay

lamp




Name of the Trade - Electrician 2nd sem - NSQF - Module 5 - Measuring Instruments

Question OPT A OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|Which force is required to move the Controlling force | Deflecting force Air friction Eddy current TP Hhdd JUPRV USSR DI | FA Bl [HAAD PRAT CENBER] qrg gyl Hed YR YRT Hed B 2
pointer from zero position in an damping damping fUfd & =Miaia &1 & fo feg s
indicating instrument? ﬂamw Eﬁ?ﬁ%’7 .
2|Which is the position to use the Any position Vertical position | Inclined position | Horizontal position | T[T YU A0 &b 1Y UM b T | Tl HI RUId | FER R gl gs UM ot Rufd B 2
instrument provided with gravity JFUDUT DT P B FRUfG o1
control? 2
3|What is the name of the scale? Linear scale Coarse scale Extended scale | Non-linear scale THTH DT 19 R 5?2 IRgH THH e THA R CISIEGREIE]] R UAA D 1
READABLE RANGE
4|Which error is caused by the incorrect |  Device error Human error Influence error Switching error | 3% He TSI Dl Tad [ & HRUI DI JUHR FfS MG i THId i Raf< e A 3
position of instrument reading? e gt g2
5|Which instrument is used to measure | Megohm meter |Multimeter (analog)| Shunt type ohm | Series type ohm | T 3§l 3R Teb G J A UIGRIY AIF | HI 3@ HIeX | AccIHIC (TAANT) | Rc €8y 3igl HIex | 4hcl UbR el C 2
one ohm and below one ohm meter meter aﬁmuﬁéi%uﬁa—wumwwﬂn AR
resistance value accurately? o ST 872
6|What is the purpose of the 3" terminal |Get higher ohmic | Pass the excess | Pass the excess Get accurate A AT HIcY H UGH [HU MW AR | 3o el - IR dlecs] | 3fidIRad URTSHA | &l & [S 1 ¥cid | D 2
provided in a advanced megohm values voltage to ground | current to ground | readings without R &1 B%QEI ERZIT%? T B S TR U B T ST %ﬂ HfET U 8
meter? oscillation
7|What is the name of the shunt Copper Eureka Nichrome Manganin R TIaRIY JTHUT DT ATH R 57?2 GIEI] gLl EIEEdL AR D 1
resistance material?
8|What is the reason for the moving coil |Deflecting torque [Deflecting torque is | Deflecting torque |Deflecting torque is | Psall HIcR & Th THH JHH WR §H | [a<a YR | T Jergul YRT | fa=rer EIPIT? YR | Taoe Jegul 4RT | A 2
meter having uniform scale? is directly inversely is inversely directly proportional BT T BRI 8? ? & Wﬁmﬁ ? & aif FT P Wﬂql_cﬁ ?
proportional to | proportional to the |proportional to the [to the square of the Wﬁm%
the current current square of the current
current
9|Which error if the energy meter disc Speed error Phase error Friction error Creeping error g SHoll AleR 1§ oA [hdl dls & TMd @l Ffe ENIE gyo i H @l i D 3
rotating continuously on no load? [NRIIGIRS ‘q:iil'rﬁ gAeA A IR 2
10|What is the effect on CT if its CT primary burns | Volt ampere Volt ampere CT secondary | dfc Tl BI Tgdidd GAI A ST g ol | CT DI WIS | dlec TR &1 | dlec THRR &WdT | CT ®I lgdidd D 3
secondary is kept open? out capacity reduces |capacity increases| winding burns out EFWWUW-HHQET‘IT%’? @Teﬁ‘ﬁ\_rl?f\_rl q & 8l S § EI?.TGI'IT‘TT% ﬁ?ﬁ\_ﬁr\_ﬂ q
11|What is the purpose of variable Avoid draining of | Minimize the error [ Adjust the current | Adjust the pointer |RI¢ TR 3idl Al ¥ Jg UIRadl HaRIY [§e] &l (A=A ¥ | iedia # ?.é &l | URT B E:gr &d A UigcR &l ng D 2
resistor connected across shunt type battery in reading to safe value to zero adjustment Cal call %’? EE] HH W P A ]
ohm meter? AN B3
12|Which material is used to make Steel Silver Tinned copper | Phosphor bronze | ATUA AT IURUN H AT TR §91H gTd el Halg 1hl g3l el IR Sl D 2
control spring in measuring %WWMWWWW
instruments? %’?
13[Which electrical effect that the single Heating effect Induction effect | Chemical effect | Electrostatic effect |Thd TRUI Sl HICX DI H [dggd UHTD SHCH™ YHTd TRUT TG ™D UHTd TR Tdggd U+ B 1

phase energy meter works?

R B A1 82




14|Which is the position to use the Any position Vertical position | Inclined position | Horizontal position T =01 &6 1Y e fhy 7T fdl MG H | Pad SH@NeR T | Had Fbl g A | Had &laol 1[I
instrument provided with spring only only only WWWWﬁ@%W%’?
control?
15|What is the name of meter? AC multirange DC multirange AC and DC AC and DC AR BT 9119 H1 87 Tl Ao RS THICR BRGNS Tl Bﬂ?‘s"lm Q?T.Gﬂim
ammeter voltmeter multirange multirange JlecHIe e RSl THER AR lecHIeR
ammeter voltmeter
i
16/Which instrument is an example of an | AC voltmeter DC voltmeter Energy meter Tangent I T IUDHRU Uhlhd SUDRUI bl Th TH! diccHICR Sl diecHle] 3ol AR TORRT Ted_HIC
integrating instrument? galvanometer 3TER0T 82
17|How the creeping error is controlled in By reducing By increasing the | By adjusting the By drilling two Foll HIeX H UM @l Fe bl Y MAEAd | XS diees] bl HH | URUT HR &l IgIhR | 8P Jad Dl UM [TS%h WR &l < g
energy meter? rated voltage inductive load brake magnet holes diametrically [ERIRIGI] %’? CRED P FHENIT B TN & A
position opposite on disc
18|Why the scale of the moving iron Deflecting force | Deflecting force is Deflection of Deflection force is | T Tle UPR JUDRVT P UHMI S{HM | 1990 9, YRT & | 99T Sagul U7 | Ta9ed 9, YRT P | [d9e 9, URTD
instrument is having un-uniform scale? | s directly inversely force is directly inversely ? U EIAT S | & HepHEUIdI g | o & JHIUT &
proportional to | proportional to the |proportional to the | proportional to the gIar % %
the Current Current square of the square of the
Current Current
19|Which source of measuring error is Device error Human error Influence error Switching error R & @ YHTd &b HIRUT HIUH Dl EEIERNEE Mg Ffe gHTg IS Ral< Fie
caused by the effect of magnetic ekl 'a,’f? grat %?
fields?
20|Which type of wattmeter? Three element4 | Two element 3 Three element3 | Three phase two T UbR P1 dIcHICR 82 dlF 3/add 4 dR Tl 3@ud 3 el | ol 3fdUd 3 TRUN | diF <RI &l 3dTd
wire wattmeter | phase wattmeter | phase wattmeter |elementwith C.T & qreHieR gIeHICR qIeHIeR CT&P.TH Y
P.T
21|Which type of instrument is used with Moving coil Moving iron Induction type  [Dynamo meter type | T8 UBHR & JUPHRU BT IWARTAY | I PScil JUPRYT | T dlg SUDPRUT | WRUI PR JUDPRYT | STITHI HIR TPR
air friction damping? instrument instrument instrument instrument N7 ST 3 1Y fodn Sran %’? YD
22|Which type of energy meter works Three phase two | Three phase three | Single phase Three phase two | IR HASH [ UbR & SHull Al | dIF ball &l 3fadd | diF &l diF 3fddd | Tdbd a0l Tbdl It AR Uil &
with netural connection? element element single element | element with CT & %'\“ITHWW%’? AHqgd WU?ﬁ?WEﬁ
PT 3{qdd
23|What is the type of frequency meter? Weston type Ratio meter type | Electro dynamic Mechanical 3MqI<I HIeR BT UbR R 5?2 dcd UbR 3UTd HIck PR | Tdqgd SHAMHD | TiAD 3FA1G UhR
type resonance type TPR
g
24|What is the unit of sensitivity in Volt / ohm Ohm / volt Ohm metre Ohm / metre Al T YdARIIdl Bl Shls KT 67 dlec / 3 3@ / diee 3Tel AR 3Tel / AlcR
instruments?
25|Why two straight holes are provided in [ Toreduce the | For power factor | To prevent the To arrest the SHoll Hick § TegHIIH 1STh A G HIY | TSP & o dI  [RMad T0ND JYR & | IR RU1d Bl T @i Ffe Bl
the aluminium disc in energy meter? disc weight correction flux leakage creeping error @Eaﬁrmﬁmaﬁ%’) FH I & [ ferg AP & forg




26|What is the name of the instrument? Absolute Indicating Recording Integrating G &1 H 182 TSI C SUBRYI | Hohdd SUBRU | RBINST IUDRU | Teblhd IUDRUI
instrument instrument instrument instrument

27|Why damping force is required in a Makes the Helps the Brings the needle | Arrests the needle | T Hscll SUDRUN H SN g HT LRI TMADIaS | T9gad 9 Bl il ﬁ%ﬁm? qIeHl & fa 1

moving coil instrument? needle deflecting force to |to its zero position | without oscillations IS g2 PRAT S JH B A Agg fyfa o aran CANERIERERGI]
movement faster act fast Dl %

28|What is the function of soft iron core in | Strengthens the Controls the Provides meter | Provide uniform | $Scil SUDRUI H XA Tl & hls bl | &Y I ] gL DI TId B O 3] MYHAH | TR U H Jaddld

a moving coil instrument? deflection force |needle’s movement| with maximum distribution of TP 82 WW% IECIECERGIN JadeAMad Ve | I &1 U JHH
sensitivity magnetic flux in air AT ® IECRUEZSI
gap

29|Which parameter is the cause for Low accuracy High sensitivity Low sensitivity | Low influence error | AT AT UR QNS UHTG BT HRRUT i HH Fclbdl I JdgARId HH JAGARITAd HH JHId e
loading effect on measuring 1 RAfER g2
instruments? —

30|Name the type of instrument. Attraction type Repulsion type Permanent Dynamo meter type YA hl YbR AMH| 3PV YHR I | UIdDb YUl YbR T I b T STIATHI HICY YR

moving iron moving iron magnet moving moving coil ?ﬁ's’ W?ﬁ ﬂ?@_s?ﬁ
coll

31|Which meter is used to measure Tachometer Energy meter Ampere hour Centre zero Hiex & YU Uid [He ol AT & falY CHhHICR Foll HIex THRR 9c Hier YA D% THICR
revolution per minute of a motor? meter ammeter g Htex &1 I fpar Srar 82

32|How to identify the moving iron type No terminal Terminal marked One terminal Terminal marked | I A6 UPR & IUDRUI DI UG H¥ | PIg RN 3D ol | HAA [dlwd (+) R | A I D1 TH RRT | THA Tellwd (+)
instrument? marking (+) only coloured red (+) and (-) PR 3R )

33[Which is an absolute instrument? Ammeter Volt meter Energy meter Tangent T FRUE IUBROT i AT 5?2 THICR dlec AR R IE]] TORRT Ted_HIC

galvanometer

34|Which force produces movement of Damping force Deflecting force | Repulsion force | Controlling force | @I J1 § U Ybdd IUDRU H Jdb Hgdh 9 CENBER] TIdh YUl §d BREEES]
pointer in an indicating instrument? YeT Rl %‘?

35(What is the function of integrating Displays the Indicates the Registers the Measures the UPhIhd SUBRUI Bl T B 6?2 AT UGIRI Hd1 § | HIAT D1 Hchd ol g | AT Dl Gof DA g | HIHAT DI HIUAT
instrument? quantity quantity quantity quantity

36[Which position an instrument using Any position Vertical position | Inclined position | Horizontal position | %d &SUT TXRTHT &1 JUAN R aTen U | Tohat i Rt o @R R bl g3 1A RISERRIE]
fluid friction damping reads accurately? JTHRT fb f@lﬁg e w9 Yedl

?

37|Which quantity is measured by an Power Current Voltage Resistance Th ARSI UDR & IJUDUI GRI i YRT diec ol IR
electrodynamo type instrument? AT B {1 ST %‘?

38[How to achieve maximum accuracy in | Keep low input | Keep high input Use short Provide correct TATART ¥ HC DT STIMN XD AU H | D TYC Tidael | I 3FTG Jidanel | BIct prlgei e | el Hed vomal
measurement using analog impedance impedance connecting leads | damping system BT TIHdT Y U HY? T d BT TN B3 Ual- d
instrument?

39|Calculate the value of shunt 30 300 0.30Q 300 Q T mA AR & 1Y 10 mA HIYH & T 30 300 030 300 Q

resistance required to measure 10 mA
with one mA meter?

3RS Tie UfeRIY P HH & T H?




Name of the Trade - Electrician 2nd sem - NSQF - Module 6 - Domestic appliances

# Question OPTA OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans Levels
1|{Which material is used to make Silver Copper Nichrome Aluminium HIMIGEEESGEARMESEICPIED EIE] GIE] EIEEdL SIHIIH C 2
heating element? WWW%?
2|What is the name of the part of Sole plate Pressure plate Mica insulation Asbestos sheet faqgd S¥al & HIT BT ATH T 52 i @ d1d @e YD HATAD ey Xiie A 1
electric iron?
:
3
3|What is the function of stirrer motor in |Draws cooling air | Spreads the heat | Exhausts the hot Revolves and ATSohldd 3M1a H R AR D1 H1 HT 3R BgT gal [SHI DI GAMFY | THBdI Bl a6 | gHdT g AR 1d %d D 2
micro wave oven? inside uniformly air outside reflects the 87 Hiearg J BT g IBEAGGIE TED I Syl
electromagnetic A
energy
4]What is the purpose of U bend Prevents Avoids the forming Reduces the Restricts the air ToR H g &S &1 R I g, OI'XDd |UHl bl R Bl |Thd & 994 9 9dT | 1991d gI3d & <&l ?Eu ® 3R gal ® | A 2
marked as ‘X’ in geyser? draining of water of scales pressure of outlet | locking inside the wyH fafgag? JApdr g ST g PIHFATRATG | b B Ufdsfed
pipe tank FRATS
5]Which type of A.C single phase motor | Universal motor | Repulsion motor | Split phase motor | Shaded pole motor | el THRR H {69 UHR o A.C Thd gHadd Hiex UTdehuUl HIcR e by AR TS S Uld HIcR A 2
is used in food mixer? Tl Hiex &1 ITTNT {2 ST g2
6|Which is the position for maximum Position 1 Position 2 Position 3 Position 4 Bicx & HThaH [7d & TelT oI a1 I GET a2 IIGE] a4 B 2
output of the heater? R 3?
!
7|Which formula is used to calculate the | Heat generated | Heat generated = |Heat generated = | Heat generated = |S[d & 99 & 3fJHR 3= THI DI TUHT [ ITF H¥I= IRT / [Iaqe SHHI= °RT / | I SHWI= IR’T / | 0T HWI= (R)? | B 1
heat generated as per Joules law? =IRT/Jcal I°’RT/ Jcal IR®T / J cal (IR’ T/Jcal B Wmﬂ%mmﬂmw J Jcal Jcal T/Jcal
?
8|Calculate the heat generated in a 70.5 Kilo calories | 71.0 Kilo calories | 71.6 Kilo calories | 72.1Kilo calories | 1000 dI¢, 240 dleC & [dGYd tlc H 70.5 Thdl Rl | 71.0 [hdl paART | 71.6 Tl baRl | 72.1Thdal bparl | C 2
electric heater of 1000 watt, 240 volt, I T Bt 0T BY, Bex -1 5 e &
worked for 5 minutes? fere & forar?
9|What is the purpose of protection Radiate the heat | Retain the heating |Place the vessels | Protect the heating | £TcX 5 &I H [dIHA RIM R YRENWH | SHI DI 3G I | S HIAd DI | THI Bl glex Dl gITCTT 3qTd &l B 2
grooves at various places in a heater properly element firmly firmly on heater element from Cal FATR? famfa & %ﬁ@[@ @E’Wﬂﬁ_@ljﬁ@f WH@WQ
base plate? plate damage T
10|What is the purpose of sole plate in Acts as a Acts as an Protect the kettle | Keep the element | Tdggd dddl H AId Wc T 350 &1 62 | TP YJa doH & | 3dTd & JoTd Th PAA ST Pl [HTI DI RSP | D 2
electric kettle? balancing weight insulator for base from damage| in close contact Wﬁﬂv‘rﬁm% W%Wﬁ W@IW e Iud A @
element with container ?ﬂtfm%




11|{What is the magnetron tube filament 15VAC 20VAC 30VAC 32VAC HReP1dd H1a H Tgdd HUCH cgd 15VAC 20VAC 30VAC 32VAC
voltage used in microwave oven? firame Tﬂr%’?
12|What is the fault in a food mixer ifit ~ [Worn out brushes| Armature coil open Defective Field winding JDH-BD PR A W %a—a' TR | Tl g3 oR | AR sl Gl | GIYUl hRIceR | &F podll HTRID
runs intermittently? commutator partially short WIS 82 ®UY FI@CI'&H
13|What is the defect in a single phase Defective Open starting Shortin starting | Shortin running | T&d ®al g4 Al H 1Y &1 5, Tig Jg QYU JYTRA Gl argls SNIE SR EEGIEEEIE
pump motor if it runs with slow speed? capacitor winding winding winding el fey 2 =rerar 872 SECIRK]
14|What is the function of neutral path in | Provides current | Provides voltage | Reduces voltage | Maintains load JUBUN o TerT THT EUIGIE HYRT IO 9y dlecol TR RR | JERITAdlecd | YR YR B -0
AC supply system for appliances? return path level constant drop in wiring current constant ISR Ty &1 Eall %’? U Dl % UalH hdl % g P HY Bl % Gl %
15|What is the function of magnetron Amplifies the Changes the Oscillate and Converts ATSohidd 3HTa- H HUCH cJd &l 1 B | HIgehldd /U Dl [gR MY =eh H Yadl | clad SIRTAT | Algshldd Sl $T
tube in a microwave oven? microwave signal | polarity every half | produce cooking | microwave energy 87 EIE'IT‘IT% geadt 8 3ﬂ?{ﬁf$[ 29d ol |
cycle frequency to electrical energy JdlaAd Hdl %
16|Which type of motor is used in the wet | Universal motor | Repulsion motor | Capacitor start Capacitor start  [TIdl gdebl H [ YbR ] HICI DI IUANT | JHa¥d HICR Ufqhy Ul HicR DHURICR T HUNTR LIS
grinder? induction run capacitor run motor [ERIRSIG] %’? QSR RA Hqex PRI T AR
motor
17|What is the name of the circuit? Electronic fan | Electronic voltage |Electronic voltage Electronic lche ol ATH R 5?2 gAdel—e Ul | SAdCl—® dicesl | SAdClHd dicesl  [SCR PI SAdelHd
regulator multiplier stabilizer triggering circuit of e 0T E‘R gfhe
SCR

O

24DV,50HZ

PHASEAC




Name of the Trade - Electrician 2nd sem - NSQF - Module 7 - Transformer

# Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPT D Ans Levels
1{Which type of transformer is used for Ring core Ferrite core Silicon steel core |Grain oriented core |3 (TG IIWANT & oTU Tb g UHR | I HR SABIHR RISC DR NP XA PR | a1 3T DR B 2
high frequency application? transformer transformer transformer transformer & E'N'Elo—rﬁ? P1 ITAIT fordT STt %’? EN'EFI'T-T? E;NW m
2|What is the relationship between E;=ViandE,= V, [E; >V, and E, > V,| E;<V,andE, < |E; =V, and E, = V,|T& TG CHBIR H UIJHP dleesl [E;=V, AR E, = V,| Ex> Vi 3IRE> V, [E; <V, IR E, < V,|E; =V, 3IRE, =V, A 1
primary voltage (E,, V,) and v, (E,, V) 3R HTeAR® qeed E,, Vy)
secondary voltage (E,, V,) in a ideal ¥ ol 7 ey g2
transformer?
¢
\2 Ey g
d
3|What is the function of conservator in Prevents the Transfers the heat | Allows to release | Allows expansion [CIIBIHR H HoRdcI DIBR RN 8? | THI D YR Bl | THSA H ST | 3RS GaId Bl |dls 1HAdI b HRUT | D 2
transformer? moisture entry to atmosphere internal pressure | of oil level due to JApar % P RIFART BT | B &I':[J:Iﬁf aar % T4 TR & fTaR
load variation 7 D aawﬁrém%
4]Which loss of transformer is Copper loss Windage loss Hysteresis loss | Eddy current loss [RITc Hidhc ¢ gRI ZRIBIFR & [ GIERIGE g g1+ BRI gIIH HaR YRT BT A 2
determined by short circuit test? Kigkal RyRor m SITdl %’?
5|Calculate the voltage regulation in 7.20% 8.30% 8.71% 9.09% TABIAR H dlees o UIdRId [AHgHA 7.20% 8.30% 8.71% 9.09% D 3
percentage of the transformer if the no ?7’>°f UM &Y, fﬂ% UR dlecs 240
load voltage is 240 volt and full load Eh?c' 2 IR gl uR a‘révrr 220 diee
voltage is 220 volt? e i
6|What is the purpose of using Reduce copper loss | Reduce hysteresis Reduce Reduce eddy "gw HThg Chg H PR Bl T BT D1 HH B | TeXRUN GIH I | AP &I DI HH | HaR YRT gl Bl D 2
laminated core in transformer? loss mechanical loss current loss JUINT HA &I gl %? ' HH B . P ' HY HIA[
7|What is the cooling method of Oil natural cooling Oil natural air Oil forced air Oil natural water [CTITTHR @I Rilde [ale T 82 A UIPIdd 38T | A UIPIdd gl | dd diid gal Sierd | ddl i arHT A 2
transformer? forced cooling forced cooling forced cooling CINGESIEaS O8I PRAT gfcra de1
8|What is the condition for obtaining Copper loss > Iron | Copper loss < Iron | Copper loss = | Copper loss =Eddy [CIhTHR ¥ 3 G&fdl U b | did 8li=> ¢l 8l | di¥ glik< dig gl | di¥ glik= g gl |di glih= HR URT | C 2
maximum efficiency from transformer? loss loss Iron loss current loss % %IE 1 Td %”
9|What is the function of top float switch | Activate in moisture Activate at Activate atopen | Activate at high [CITBTER H g@Tel el & [N FAlC | TH &I JURIA H | SMdHR DI UG H | el Fiove DI TR | I qUHM Dl B 2
of buchholz relay in transformer? presence overloading circuit condition temperature Dl FATZ? qicha B feha & T afopg B fufa o aferg &
condition condition
10|Why the core of current transformeris | To minimise the To maintain To prevent high | To minimise the [IAHM IR BT PR PHA YA  (SRFI DI PADIA D | FRAR A IIN | I RR @A DI | g1 H J[C Bl A D 2
having low reactance and low core burden constant output static shield error in reading sh?maﬁ?aﬁa@rmw%v ﬁ*IE Wﬁ%ﬁ’l‘@ W%ﬁ‘m Hﬂﬁ%ﬁﬂ
losses?
11|How the error in reading of a potential |[Using thin laminated |  Providing long Using high flux Providing good  [[dHd SRR &1 Jgd H[C Dbl by | Uil BR bl SEIECEIRE I Udlg 99d | 33 I[0raI areit D 3
transformer can be reduced? core magnetic path density material |quality core material [hH fbar oI Feba %'? HAT UalH HAT IR &1 UG PR AU TeH
DAl DAl
12|Why the load is disconnected before To disconnect the | To disconnectthe | To avoid heavy To provide an |31 IS ¢J Sgar & SMURE | SGRIM [dg ¥ <l [STdck & dad g¢ WT@@G{TW drsfed] & folt Th C 2
the OFF load tap changing operation? tappings from moving contact of | sparking atthe | electrical isolation Ugd dis ol Pie faar ofrar 872 P! fagaiford A Wﬁﬁﬂfm\;ﬂﬁ YR T @ s SRS NI
neutral point the diverter contact points for the windings %ﬁﬂ W%f@m %ﬁf&' EIET:IWQ?W




13|What is the name of the part in power Breather Tap charger Explosion vent Buchholz relay  [UTaR SRIBGIER H HRT &1 ATH R 5?2 ECN EEIEN HHTBT dc e R
transformer?
14|Which condition is absolutely essential Nature of load Type of cooling | Phase sequence | Class of insulation |Gl SRIBTHR & JHMIGR ATA b HR D1 UPpid Qidad TR HAl 3IPH  [TXAHT gﬂrﬁlﬂdJ G
for parallel operation of two used ]%11;! S O RIfT W STIRID %’?
transformers?
15|Which construction technique is used | Use of laminated | By reducing core | By using grain | Use stepped core |91 ZIIBIFR H dld & JHUM bl HH | Ucldd PR bl | HR HICTs bl H Wﬁ HR BT UGG HR
to reduce copper loss in larger core thickness oriented core arrangement Wﬁ%ﬁﬂmmﬂmﬁ JTIRT PR FRD WW.GT@"T
transformers? I foa S %’? B
16|What is the name of transformer? Air core transformer Iron core Ring core Ferrite core TABTHR T -TH R 5?2 G HR B SRA DR R &R SBER BRIZC DR
transformer transformer transformer Q'M'Elo‘lﬁ? E;W
8
5
17|Which transformer is used to measure | Pulse transformers Ignition Potential Constant voltage [3=d dlecal UIASHI &I ATOH & Tl T CRIBIHR SRM SBR[ TdHd CRBR Id dlecl
high voltage installations? transformers transformers transformers ?ﬂ "grlﬂ'q?ﬂf{ H1 I9ANT foam ST c
?
18{How does the moisture is controlled in Using silica gel | Using transformer | Using sodium | Using ammonium [U7aR CRAMTIR WR T U & | A RApISId &1 [SRBIER & dd &l | JedH daRlgs | MY Sicll bl
breather fitted on power transformers? oil chloride jelly P Y A e e 82 JYGIT HAT JGIT HAT BT IUTNT HAT I HAT
19|Which power loss is assessed by Hysteresis loss only | Eddy current loss Copper loss Core loss TRIBIR IR HTA-Tlhe WRIHU GRT | DHad BRI | Dhad HaR URT T4 GICKEIE] DR I
open-circuit test on transformer? only gﬁ&ﬂ%{%ﬂﬁﬁ 3 far Srar
?
20|Which is determined by the crackle Acidity Moisture Viscosity Dielectric strength [CTAWIHR & dd & shehd e I 3Tl ELE AT WRTIdGgd Rfad
test of transformer oil? forarepT MR BT g?
21|Which material is used to make core Soft iron Rolled steel Copper alloy Cold rolled grain  [OTaR CAHGIHR &1 HR S o 1T H gl RUSESIN] GIEBEIEREIR Pics TS I
of power transformer? oriented g arft 1 SuTiT fan ST 82 3iRics
22| What is the name of transformer? Auto transformer Core type Shell type Audio frequency | ZRIGTHR 1 TH T 5?2 3fTc CRIBTHR DR UPR BT R[d TPR D1 SISl SR
transformer transformer transformer EWTFIT{R E'HEFIITT Ej‘v'l'w
i
|
23|What is the purpose of providing Air releasing Heat releasing  |Pressure releasing| Moisture releasing [UTaR SBIR H [d¥hIC dc UGH Bl Blel ST BleHl GdId BIgI TH BleT
explosion vent in a power transformer? P B 3%@ FTZ?
24|What is the function of buchholz relay |Protection from high | Protection from | Protection from | Protection from  [fSoTell TIAHTAR H gl Rl &l I AU I QRE&T| dd H YR DR | cb H qaId dltsT STAHR 3R
in power transformer? temperature moisture entering | pressure loading | both overloading P T %? arelt T g gRE&T q RE&m [SCRE] AR}
in oil in tank and short circuit RET
25|Why primary of potential transformer To offer high To obtain required | To regulate the | To stabilise input [T IHT TAWIHR BT TAHS Tdcll | I IRV o & [o1¢ | SATIRAD dlecs TTYHD YRT Bl 3R 3M3cYc
is wound with thin wire and large inductance voltage ratio primary current | and output voltage [dRR 3R E@f e H ‘QTI'IT:ﬁ &Y ST UIed A G | RfFEfd s & DI RR
number of turns? Feferd forar ST 872 ferg ferg FRA & forg




26(Why distribution transformers are To avoid over To maintain Toreduce  [To easy distribution [[IcRUI SR AHMJ U Y Seel | SAAHRU Y I [FRR el 9 | TBGER D |3 DHall 4 AR yomell
normally connected as primary in delta loading constant voltage |transformer losses| of 3 phase 4 wire ﬁ EIT%[&W 3R XR 7 fgdias & =0 Cg faQ @& f%nz REIE] PIHY | P MH TR &
and secondary in star? system o i Gﬁ:‘ Y %? PAD ﬁ*ﬂ! ﬁ'I'Q

27|Which type of emf is induced in an Self induced emf | Mutually induced | Statically induced Dynamically 3{TGRI Tl dIeisT CIBIER | by g URd STATH 3 Uikd RR Ud sTHT® [Tia=id =9 9 Uikd
ideal two winding transformer? emf emf induced emf Wﬁmaﬁﬁm%? EFQTI'@?

28|How to determine copper loss in a Ratio test Impulse test Short circuit test | Open circuit test |U® CRIBTHR H dI1d & JHHH Pl 31UTd TRI&UT ST TRI&UT Y URYY K T URUY &
transformer? i 8 B2 — ] ] ] .

29|Why ferrite core is used in radio To reduce the To reduce electric | Toincrease the | Toincrease the [ HR BT IUAM AT RUGR H | A gl HI HH  [fdggd ATIHR0 Bl [ & D] IO RETAR DI Gard
receivers? constant losses interference quality of sound efficiency of G@IWW%’? W%ﬁﬂ WW%T%I‘Q aaﬁ%ﬁ—m Wﬁ%ﬁﬂ

receivers

30[(What is the advantage of stepped Minimizes copper Reduces Reduces eddy |Reduces the space |[§5 TRIBHR H TRUEg HR AR | did & IWIR B |[GERAN BN HH | HR URTBIH Bl | BR P AT 5
core arrangement in larger use hysteresis loss current loss for core B T BICT 82 U HAT S PR AT HH HIAT FAP AT
transformers?

31|Which material is used in breather to Silica gel Sodium chloride Ammonium Charcoal and salt [CIIBTER dd J TH] &I A P [T RIREISH Iisdd TRIgS | ANIH TIRISS | IRGIA 3R THD
prevent moisture entering in the chloride mixture Wﬁmmwwm 1 forgor
transformer oil? STl %’?

32|What is the disadvantage of auto More losses Heavier in weight Poor voltage Cannot isolate the |3{TcT TRIBTHR BT JHA HT 5?2 3{iereh - ol | 4RI TS dice o] Tgd e arshsT ol
transformer? regulation secondary winding fafrge= 3T ol B Tbdl

33|Which cooling method is used in pole Air natural Oil natural air blast |  Oil forced air Oil natural air  [JIc JHARNST [IdRUT CRABGIHR | g UTpidd dd Uiplde ar | dd dfeld gal dieid | Ao UTpidp gdl
mounting distribution transformer? forced natural %ﬁwﬁamﬁmmmnﬁo‘mw fqwmie EI'@I?IHE

?

34|What is the composition of steel and Steel 97% and Steel 95% and Steel 93% and Steel 90% and  [CRIBIHR HR H WA 3R RAIcdH WA 97% 3R [95% 3R [NIdbH| XId 93% 3R TId 90% 3R
silicon steel in transformer core? silicon 3% silicon 5% silicon 7% silicon 10% Tl ) TR T 82 faferT 3% faferie 7% fafers 10%

35|What is the purpose of tap changing Maintain primary Change voltage Maintain Load the TSIl SRITHR H < TS 1 3= [T dlecs] (¥R | [AROIH dlecol [ Tgdid dlecs] (¥R | 3UHIH G&fdl H
in power transformers? voltage constant ratio in distribution secondary transformer for [T %‘? Ry BRG] 3Jurd Eﬁﬁ JTE g1 E;mtb"l'ﬁﬁ s

voltage constant

maximum efficiency






